N & 0l & AFSE H Al A
20235 = =20iar LB A4t
A AL8D
M HAH2HAH|(HLD)
o2t J|=3H| (crel: M)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
A& 70,772,334 73,499,517 A2,727,183
= 2,347,000
s 705,000
= 3,288,790
i 63,731,544
CH 700,000
HY2HAFY(ALD) 36,580 369,540 A332,960
JlE23l 36,580 369,540 A332,960
J|12&l 36,580 369,540 A332,960
201 et 3| 27,940 356,580 A328,640
01 At22t2ld| 23,940 351,580 A327,640
Oget=2H| 11,100
0J|E2AMRESHI 100, 0002 % 160! 1,600
OAFRIID & SAE 8,000,000 8,000
0J|Et=EH| 1,500,0002 1,500
O2RAIEEEHE ST =
15,0002 *6002 X 9,000
Osgt(H&ngeF
8,00021% 1621%30A! 3,840
02 Z323H| 4,000 5,000 A1,000
2Ee= £ 4,000,0002 4,000
202 044 8,640 12,960 24,320
01 =LHOAHI 8,640 12,960 24,320
Oz20tl(2S2I)
180,000 x4 S+ 128 8,640
YIS (AL 3,600 4,200 600
PAEE2Z 3,600 4,200 A600
QIR AA| 3,600 4,200 A600
203 HRF&IY| 3,600 4,200 AB00
04 FN2ILSFELI 3,600 4,200 AB00
ORAN2ZLARF=E 300,000 %12 3,600
F R OHe 18,254,954 16,192,880 2,062,074
= 15,000
i 18,239,954
=32 Matze] 403,416 56,760 346,656
=, SFMA22| 403,416 56,760 346,656
101 eI44| 34,336 0 34,336
04 JIZHHI22 XS ES 34,336 0 34,336
OB4eR EX 34,336
0Jl=z 85,60021x2492! 21,315
0=Xt=< 85,6002 %522 4,452
0 Xt 85,6001 942
0=2%= 22,559,000 %4 5% 1,016
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2A:

Faf=i,

HE: FOX| JHg
o =S FMAtEe (CH: ®2l)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
0HZEE 22,559,00024%3.545% 800
0BRSS 22,559,0002412.81% 2,890
01EEE 22,559,000 %1.75% 395
0&HHEE 22,559,000 1% 226
SRS 2,300,000 2,300
201 L2 50,680 35,960 14,720
01 AF222IHI 45,880 35,960 9,920
O] 31,480
IR =242
374,0002*20Z X| 7,480
022 E2LL2
374,000 +502 X 18,700
0222 UDFE AIREE 2 S)|
~2 = 3,300
OAIRERE S 200,0002 %12 2,400
0S)I%a22 S 15,0002 *60Z X| 900
022 24 TP S
200,000+ 10& 2,000
OSZH(ALHFARFX)
8,000 +621x80A! 3,840
OAHE D AREX AR
880,000 x 12 10,560
02 222 4,800 0 4,800
O& xHREU 400,0002 % 12& 4,800
202 Ot 15,400 17,800 A2,400
01 2LH0IH 15,400 17,800 2,400
OARELSH AR 45l
200, 0002621128 14,400
O=2RAt JREZA
100,000 %121+ 102 1,000
203 2| 3,000 3,000 0
03 Al 3,000 3,000 0
OUREAMAZ=A 3,000,000 3,000
401 AlEHI L2 0HH 300,000 300,000
01 Al&H] 300,000 300,000
OlES=INI=N = 300,000,000 300,000
XSRS 17,851,538 16,136,120 1,715,418
[ 15,000
= 17,836,538
BN ES] 38,800 6,600 32,200
201 L2 A 38,800 6,600 32,200
01 AFRZH2IHI 38,800 6,600 32,200
OBtSHAE £ L ORI22X S|
8,0002%2001%304A! 4,800
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2A:
PAELN

cH):

ALY
FOHR M

KIS AL

- _ _ X Lz
SA B E(BH) - HRAY - BES Ol &k L o HIDS2
ORat 29 A=ss 2o
4,000,000& 4,000
OESHHBSRH 2=
300,000 %50Q1x2! 30,000
ARRF0=2A(ZAI) 6,904,218 8,180,027 A1,275,809
401 A &HIZL20HY 6,904,218 8,180,027 A1,275,809
01 A&t 6,887,000 8,158,000 A1,271,000
OUHEOs U=sHZE dXISAt
200,000, 000& 200,000
O23U=0t2 U=IHSA
300,000, 000& 300,000
OXI=(HIE)OIE R3EE SA
275,000, 0003 275,000
ORNtE =2 HEBA
300,000, 000& 300,000
O 20ls ot = EHIA
157,000,000& 157,000
Oults =2 dYZ SEHEIA
250,000, 0003 250,000
OFUB0IE USHBE TLTA
200,000, 000& 200,000
FU0E NIE SIHB A
150,000,000& 150,000
OF4 AMEZ SHERDA
152,000,000 152,000
OtE RZ2 NE ZHIZA
180,000,000& 180,000
O=& ot 213&=2 HESAl
250,000, 000& 250,000
OA0E TR TETA
200,000, 000& 200,000
OgE0ts U=sHZT ZHIAt
300,000, 000& 300,000
OSE0E USXNBE ZHTA
110,000,000& 110,000
O==0ts U=sHZE Z8IAt
200,000, 000& 200,000
OSEHi0ts U=sEZE R ISAt
150,000,000& 150,000
OUIXl =g+ M2 SEZA
180,000,000& 180,000
Ogliz s2 ZHISA 100,000,000} 100,000
Oate D=t OtAE EEIAL
121,000,000 121,000
OAtiols etz ZHISAt
172,000,000& 172,000
Oz=tt0ls et = EITAL
200,000, 000& 200,000

- 2% -




2A:

Faf=i,

Ha: Fom) H
CHol: XISIHEAIS (Cro mel)
S RZH . 3| - . B PSS
SA - FB . EI(EH) - HRAY - BES ol &k e lmE=T
OTAIE U=82E SA2A
200,000, 00024 200,000
OBS0E 52 LIUT2 HEBA
170,000,000 170,000
OUR0IE SRETITA
100,000, 00084 100,000
OAs0tE =2 HEHIA
500,000, 00024 500,000
O£01(24)012 52 HEBA
300,000, 000! 300,000
OHOI0LS 012 SHEZTA
200,000, 000! 200,000
OUI0LS o1 SHERTA
150,000, 00024 150,000
OBS0I2 SIEH0I2 T2 SHERIA
150,000,000 150,000
OFRXIT 012012 HHlAS
200,000, 000! 200,000
OSS0le LSBT TLTA
300,000, 00024 300,000
OSZ0I2 ME ZHIBA
150,000,000 150,000
O20tS 012 Z& FHIBA
300,000, 000! 300,000
OSH) HAOS NEY2 HTITA
20,000, 00024 20,000
03 Al &S CHH| 17,218 22,027 £4,809
OAlZ= 0l 17,217,5002 17,218
ANEFOISAAE 983,847 1,094,928 A1, 081
401 AIEEI L= CH] 983,847 1,094,928 A1, 081
01 AlZH] 978,000 1,091,000 A 113,000
Ogsillg RIKsz HHIZAl
31,000, 000! 31,000
OXEDIE MIB 52 HEZTA
30,000, 00024 30,000
OO2ILHOIS BHS2 & ME FHIZA
28,000, 000! 28,000
OZH0IS OAZ HM2I| BA
27,000,000 27,000
OU=0t2 ZIHS2 FHIBA
38,000, 00024 38,000
OADIOIS OAR HMRD| U BA IS
SZ A Z4SA 54,000,000 54,000
O2N0IZ YBX 52 U 42 ZHIBA
41,000,000 41,000
O220I2 MBHIEZHIAIY
36,000, 00024 36,000
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Faf=i,

FOHR M

=R KIS IOHEALS

SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
ONE0IE o OFA2 GM=II=Ar
80,000,002 80,000
OUS0IS ti+2 FHIBA
30,000,002 30,000
OYEOIE)IIE TRZA
45,000,002 45,000
OXIEIIS 212 OLAR SUMSI| BA}
54,000,002 54,000
Ogist QHIOIS 212 SFTAF
30,000,002 30,000
OR0IE FES2EHIA
30,000,002 30,000
OS20I2 KIS 52 WRYIBA
26,000,002 26,000
OHXIOIE QRILBE2 9 1h4 HEXT
A 45,000,002 45,000
OXl€0l= MEZHISA 36,000,000 36,000
AR0IS B2 MENZBA
30,000,002 30,000
OETIISOHZ HI+2 HHIAI
22,000,002 22,000
OYUE0IS =R EHHITA
10,000, 0002 10,000
OW=0IZ JI0H MI® EHIZA
36,000,002 36,000
ORDOIS MAR 52 HLIBA
35,000,002 35,000
OS20I2 ¥ 52 TR
30,000,002 30,000
O ZZ0IS ti+2 HHIZA!
29,000,002 29,000
O2Z0I2 HMOl 52 FHIZA!
30,000,002 30,000
022012 X2 FHIBAl
15,000, 0002 15,000
OSIOIS =2 52 TF 2234
30,000,002 30,000
OYIOIE)0E 52 HTIBA
50,000,002 50,000
03 Al&=2CHE| 5,847 3,928 1,919
OAlZ b 5,846,400 5,847
AEEDI= A 734,59 448,204 286,3%
401 AIZBIZ =T 734,59 448,204 286,3%
01 AlH] 730,000 445,000 285,000
OYE 52 THTA 30,000,0002! 30,000
OZA0IZ J12tE HEIBA
25,000,002 25,000
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A A4
BEy: oMK H

CH2|: RI2{HEALYS (crol: 2i21)
SYSINPE I 517) - . B PSI[E]
A - BB GRI(EI) - HRAY - BES o e ClimE=1
OIS == Za&ZA
35,000,000 35,000
OFL0IZ 12 HHIZA
25,000,000 25,000
OXHIS =52 BRI
35,000,000 35,000
OBIQlS =2 TZBA
30,000,000 30,000
ORA0IZ INTHY SXIBA
30,000,000 30,000
OAROIE 52 BXIA
30,000,000 30,000
ONW=0I2 =2 HEZA
70,000,000 70,000
OF40I2 12 HHIZA
45,000,000 45,000
OXE0ts dENESA 25,000,000 25,000
OMZ0IS 22 =HBA
35,000,000 35,000
OAEI0IS MYm SHETA
25,000,000 25,000
OAIEDIS 212 OLAE M RI|ZA
40,000,000 40,000
O=A0IS o2 HEXTBA
40,000,000 40,000
OZA0S =2 TZBA
30,000,000 30,000
OLE0IZ =YY LXIBA
10,000,000 10,000
OMZENIE 52 EXTA
50,000,000 50,000
OXIEP AXSA SZLITA}
65,000,000 65,000
OLIOIS =8 SHERTA
55,000,000 55,000
03 Al&=S2CHH 4,59 3,204 1,39
OAlZsTh| 4,599,0002 4,599
EESEEISE 1,051,773 704,410 347,363
401 Al ZHI L2 1,051,773 704,410 347,363
01 Al&H 1,048,000 700,000 348,000
OLE0IS 12 HHIZAH
70,000,000 70,000
OSZENS PFY =2 ZTHIA
72,000,000 72,000
OU=0tS orstmRTA}
50,000,000 50,000
OIS OISTYR STBA
100,000,000} 100,000
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PSE
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cH):

ALY
FOHR M

KIS AL

HEE

SN - BE . S2(3) - HRAY - BES O e e HlmE2
O==0I2 M& Jol=Ar
20,000,000 20,000
OL20IE MES 52 IEHZA
27,000,000 27,000
OAIDIDFS OH2 AFB FHIZ AN
70,000,000 70,000
OMEDIS 012 SERBAL
70,000,0002 70,000
OZENS 2E =2 NETA
60,000,000 60,000
OE0I2 Y7 0l HHIZAH
40,000,000 40,000
OE0IS DISXYR SEEBAl
60,000,0002 60,000
OZY0IS o1 OIAR EETA
55,000,000 55,000
OZU0IS PES =2 HETA
32,000,000 32,000
OZZ0I2 JIDIE 52 B4ZA
35,000,0002 35,000
O2Z0I2 IS 52 THTA
25,000,000 25,000
OUS0IS BOIZ HIF FHIZA
83,000,000 83,000
OZEDIS o2 OIAR EETA
99,000,0002 99,000
OIS 52 SERBA
80,000,000 80,000
03 Al 3,773 4,410 637
OAlE S THY| 3,772,802 3,773
NE L PS=INEY 689,316 503,600 185,716
401 AI2HIZ S 0HE 689,316 503,600 185,716
01 Al&H 685,000 500,000 185,000
ORHOIS HME 2MH2A
60,000,0002 60,000
Og=20I2 22 MHIZA
45,000,000 45,000
OI|0IS QHEAIES MXIZA}
25,000,000 25,000
OBEDIS OHRAIHE HXIZAH
45,000,000 45,000
OM0IS o MHIZA
40,000,000 40,000
OL-202 M& HHIZA
50,000,000 50,000
OBIZDIZ o OIAR EETA
40,000,0002 40,000
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PSE
o /e

cH):

ALY
FOHR M

KIS AL

S R . ol (3]]) - . rIE]
SA - FB . EI(EH) - HRAY - BES ol &k e lmE=T
O3E0tE o2 OtAE EEZA
60,000,000& 60,000
OAE0l= =2 HUISAt
20,000, 000& 20,000
OUEOs MEE2 SHETDA
40,000, 000& 40,000
OL==0t= =2 EUIZSA
45,000,000 45,000
OLECS o2 HEH FHISAM
45,000,000& 45,000
OZH0IZ CHMAIEZE EXISA
30,000, 000& 30,000
FUL0IE oY OtAE ZEIAL
90,000,000 90,000
OUsot2 dgz 0tAZ LESAL
50,000, 000& 50,000
03 Al 2204 4,316 3,600 716
OAlZ =T 4,315,500 4,316
SMFCI=RAY 826,173 917,746 A91,573
401 A EBIZ 20| 826,173 917,746 291,573
01 Al&Hl 821,000 912,000 291,000
O=& JtMH= M&E EHl SAt
50,000,000& 50,000
OScl s%U=E =2 ti==HE At
60,000,000 60,000
Os 4XE2 s2 HE> SAt
35,000,000& 35,000
Ost2ils FE2MLZ2 HEF=SA
30,000,000 30,000
OEE Z2E 2 ZT SA
45,000,000 45,000
OHZ30te HE=s2 EXISA
25,000,000& 25,000
O&E OS82 =3 FHISAH
25,000,000 25,000
O 202 A2 ZTEHSA
20,000, 000& 20,000
Ozttt oHd SIS ZSA
55,000,000& 55,000
OFAL 38tE =2 ZHISA
30,000,000 30,000
OUEDE RIAEZ SEE ZA
75,000, 000& 75,000
OUEtE s& Y =2 HUISA
30,000,000& 30,000
O20ts MUEZ HSESA
25,000,000 25,000
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2A:

Faf=i,

M For| e
9l XIHALYS (o mis)
CHol: M2l
S . X . CrOl (S . . I SIS
SA - FB . EI(EH) - HRAY - BES ol &k e lmE=T
ONOF Bl NYEE Z& R Al
50,000,0002 50,000
OXIot or ZE H2FBAL
35,000,0002 35,000
OBI0IS o1 B2 EXIZBAF
35,000,0002 35,000
OS2l S22 =2 M| 2A
30,000,0002 30,000
Octe 0= MEEHISAH 95,000,000 95,000
OXi3l OFERYTR AN ZA
36,000,0002 36,000
OT0 OIS Q2 = A}
35,000,0002 35,000
03 Al&SCHY| 5,173 5,746 A5T73
s 5,172,300 5,173
ARSI 1,077,647 742,650 334,997
201 A0 L=20Hb] 1,077,647 742,650 334,997
01 Al 1,074,000 738,000 336,000
OAEDIZ 12 OIARTRDAS
60,000,0002 60,000
OAEDIS 912 OIAREETA
50,000,0002 50,000
OSd 02 XUR SHFTA
50,000,0002 50,000
OUHBIIZ o1 OIARTADAS
54,000,0002 54,000
OSEOIZ 912 OIAREETA
40,000,0002 40,000
OSAEZHH S0 HHIBAF
66,000,0002 66,000
OUZOLS Q12 SHEXTA}
35,000,0002 35,000
OMEDIZ 92 OIAREETA
65,000,0002 65,000
OXAOIS oY B4BAF
30,000,0002 30,000
O OIS 212 HHIBAF
46,000,0002 46,000
OBE WLBHE ZHIZA
90,000,0002 90,000
ONEDIS 012 HEHTA
63,000,0002 63,000
OCIRIOIS Q12 HFBAF
70,000,0002 70,000
OSE0IS 212 HEBAF
85,000,0002 85,000
0SS 52 ZTHIA
35,000,0002 35,000
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2A:

Faf=i,

S FHA O
=R KIS IOHEALS
[ KISHEEAL (Crol: M)
. XH . = IE dE
SA - EHH - SR(E) - HRAI - BES ofl e L o imE=T
OUiotils =2 HESAH
68,000,000& 68,000
OgE0E o2 =EESA
61,000,000 61,000
ONY 8= ST ZESA
35,000,000 35,000
OgE SHits 52 Z8SA
35,000,000& 35,000
OdElE 52 ZESA
36,000,000 36,000
03 AIE S0 3,647 4,650 A1,003
OA&SCHY| 3,646,8002 3.647
AE =AY 1,137,079 997,244 139,835
401 AIZHIZL S0 1,137,079 997,244 139,835
01 Al2Hl 1,133,000 991,000 142,000
OA2I0rE ot2 SHISAH
45,000,000& 45,000
OMEDNE 2 ZHISAH
40,000,000 40,000
Ogcl oSt =2 S ZHISAt
50,000,000 50,000
Ogdlls =2 FHISA
40,000,000& 40,000
OAdl Ol=eta OtAZ ZHSAL
40,000,000 40,000
OXEDIS =2 0tAZ ZEIA
32,000,000& 32,000
O& Nl =2 FHISAH
39,000,000& 39,000
OSHIOI= =2 EXISAt
45,000,000 45,000
OAB0ts =2 S ZESA
51,000,000 51,000
OUS0tEe 324 8 AASAAIHISA
24,000,000& 24,000
O=g 0=tz S dUISAt
52,000,000 52,000
Otdlls =2 S EXISAt
54,000,000 54,000
Ol s2 ZY3A
54,000,000& 54,000
O=Qt D=t OtAE HEZAL
44,000,000 44,000
Ot Dt=Sotd OtAZE ZHSA
55,000,000 55,000
Ovotel dotat A& ZHISA
60,000,000& 60,000
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2A:

Faf=i,

M FOHX| JH
SR NSNS ArS (Ctol: ®M2l)
B . R . 51 - . B dd
2N B S2(3) - MRAY - BAS Ofl e e IS
O=Z0IS =2 ZAZAf
45,000,000 45,000
O (ALY 0IAR ERTA
33,000,000 33,000
O 0|1P2B =2 SAXIBA
20,000,000 20,000
OFHE(ME)DISOHZ L ABIEHIZA}
56,000,000 56,000
OUIDIS =2 ERTA
45,000,000 45,000
OZ 012 OlAR ERTA
68,000,000 68,000
OHE LAMAF 52 HHIZA
39,000,0002 39,000
ODI2E(MYZE) 52 ZHBA
35,000,000 35,000
Odtel LR HIE HHIZA
36,000,000 36,000
oAt 52 MHIZA
31,000,0002 31,000
03 Al& =] 4,079 6,244 22,165
OAlZsTh| 4,078,802 4,079
CHE Z=0I=2IALYS 1,028,690 759,757 268,933
401 AIEHIZ 200 1,028,690 759,757 268,933
01 Al&H] 1,025,000 755,000 270,000
OLS0HS oF2 SHATA}
58,000,000 58,000
ORI 52 OIARRMRI|ZA}
40,000,000 40,000
ONB0IS 9H2 OIARSMRI|ZA}
60,000,000 60,000
OM0IE =2 L Hi22 FHIZA
38,000,000 38,000
O=el0te s2HHIZA 72,000,000 72,000
ODISHEDIS 52 OtAZSMRI|TAL
62,000,000 62,000
OB BIC-EiAR HREE HEBAL
45,000,000 45,000
OSA0I2 S2HHIZA 36,000,000 36,000
OY=0t2 9H I FHIZAL
20,000,0002 20,000
OAOIS 9H OIARHMNRI|ZAL
60,000,000 60,000
OE0tEs sZ2ZHIZSA 72,000,0002! 72,000
OAY SEOIS 12 SEETA}
72,000,000 72,000
OZZ0t2 =2HHIZA 45,000,000 45,000
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2A:

Faf=i,

M F|obX| JHer
EH2lr XIS IHEAIS (Ctol: ®M2l)
S . HT . 51%) - . PS[E]
SA - FB . EI(EH) - HRAY - BES ol &k e lmE=T
ON=0S 52 90 BZ2Al
32,000,000 32,000
OUS0IS AmE AX2A}
95,000,000 95,000
OXIKIOIS 012 OFARGIM 2| Z A
60,000,000 60,000
OOEH=Z HII2S &XIZA
90,000,000 90,000
ONSOIS =2 HE BLDA
68,000,000 68,000
03 Al S0 3,690 4,757 1,067
OAlg sl 3,690,000 3,690
AIOF=0I=2A ALY 1,696,084 875,481 820,603
201 NS0 2200 1,696,084 875,481 820,603
01 A& 1,690,000 870,000 820,000
OBIEOIS 012 SHTE DA}
50,000,000 50,000
OMHOIS =2 STXDA}
80,000,000 80,000
OAID|OFS oF2! FHIZA}
50,000,000 50,000
OFADIS 52 HEBA
50,000,000 50,000
OOHHDIS OH2 OtAECIMSI|TA}
170,000, 0002 170,000
OXB0IS ot STETA
60,000,000 60,000
OXIEHOLS OF2 OtAECIMSI|TA}
200,000,000 200,000
AOH0FS oF2 SIEETAb
60,000,000 60,000
OBIBINIS 012 OFARGIM I ZA
170,000, 0002 170,000
OAA0IS o012 WA
50,000,000 50,000
OgE NIE ZHISA 100,000,0002! 100,000
OSID(BUB)0IS =2 HBBA
60,000,000 60,000
SHI2 =2 HEBA
80,000,000 80,000
OMIDIS oH2 OtAECMSI|TA}
120,000, 0002 120,000
OAloHItS okl SITAFEAL
40,000,000 40,000
OAHSOIS 012 HHIZAH
70,000,000 70,000
OFet= HE ZHISA 50,000,000 50,000
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2A:

Faf=i,

HE: FOEX| e
Shol: XISHErALY
L AR (Erol: @)
. XH o S IE XN L=
SA - BE - S9(30) - HRAY - BES D L o fimEEn
Oets0tE o2 SHIIBA}
50,000,000 50,000
O3 A0S MIE ZHISAH
50,000, 000& 50,000
O==ti0t= MIE HHISA
30,000, 000& 30,000
OGtE0lE Y2 SHEEFTAL
100,000, 000& 100,000
03 Al£ =04 6,084 5,481 603
OAlZ =il 6,084,000 6,084
MY =0I=RALY 1,089,910 452,233 637,677
401 AlEHIZL 048I 1,089,910 452,233 637,677
01 Al&HI 1,086,000 449,000 637,000
OAIDHOIS o+ dYuWE SEBAL
33,000, 000& 33,000
OAliOIE 2 =2 SEEZA
30,000,000 30,000
O3telite 7e= NE ZHISA
47,000, 000& 47,000
Ogstits MX==Z ZHISA
22,000, 000& 22,000
ONSOIZ CISTE =6 FHIAIY
30,000,000 30,000
OY=0tls dYng =SHEIA
33,000, 000& 33,000
O0l20tS 212 =2 HTITA
22,000, 000& 22,000
Ot=0tE ¢+ EHIAY
100,000, 000& 100,000
OsleltE =SM= ME ZHIZA
37,000,000 37,000
OE=s0ts ROt WE SHESA
33,000, 000& 33,000
Ogd Jt=Xl+ otz THEEZA
35,000,000& 35,000
Oouiire o2 MHEHSA
25,000, 000& 25,000
OUEllE it S22 ZEHIA
25,000, 000& 25,000
Ol =XIEs2 ZESA
30,000,000 30,000
OsH0E 2 52 ZHBA
30,000, 000& 30,000
OSFA7 &= N ZHISA
43,000, 000& 43,000
Og=0tS 2 SHHISA}
25,000,000& 25,000
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ALY
FOHR M

KIS AL

HEE

Hid . NZH . Cle| (5] . . IE
SN ENEEEEEETENED
75,000,000 75,000
OIHOIS SA =2 TEDA}
35,000,000 35,000
OMSOIS Ui 52 TETA
25,000,000 25,000
OUY OH3IAE =2 ZEDA}
30,000,000 30,000
OLLOIS or2 HIE FHIZAH
35,000,000 35,000
OME0S OFH2 D2 AXI2AH
33,000,000 33,000
OYT 5155 NE =HIZA
35,000,000 35,000
0020t ot W& HXIZAl
33,000,000 33,000
OHTOIS 2RS4 HEITA}
50,000,000 50,000
OBISOIS UE =2 TEHDA
30,000,000 30,000
00202 o2 £2 THEEBA
70,000,000 70,000
OLHLOIS BB MA HHIZA
35,000,000 35,000
03 Al =20 3,910 3,233 677
OAlE ST 3,909,600 3,910
NEETIECYN 543,400 453,240 90, 162
401 AAH2 =00 543, 400 453,240 90, 162
01 A& 540,000 450,000 90,000
OYAOIZ HIE HHIZA
60,000,000 60,000
O=XIOS 0+ ST A}
100,000, 0002 100,000
OZUOIS HIFE HHIZA
60,000,000 60,000
OKEHIIS o1 SHEEAl
50,000,000 50,000
OKHOFS o+2! FH|IZA}
40,000,000 40,000
OFHIS ICY Y AX|ZA
30,000,000 30,000
OHOIS o012 WA
30,000,000 30,000
OB0I0FS 0+2! =IHBA}
30,000,000 30,000
O2F20I2 212 OFAR M| ZAL
100,000, 0002 100,000
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SN A
Ho: FoHX) H

el XIS IHEALS (Ctol: ®M2l)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OZH2 =2 HEESA
40,000,000 40,000
03 Al&=HHI 3,402 3,240 162
OAlE 201 3,402,0002 3,402
HE0S 220 sEUR ZLA(FLIE0{0A) 50,000 0 50,000
< 15,000
z 35,000
401 AlEH| 22 OHH 50,000 0 50,000
[ 15,000
= 35,000
01 Al&HI 50,000 0 50,000
OAELOIE %30 SAXY2 T4 A
50,000,000 * 14! 50,000
[ 15,000
z 35,000
CRASAIY 19,001,269 23,728,978 A4,727,709
z 705,000
< 625,000
z 17,671,269
CRASAIY 129,014 2,624,414 2,495,400
[ 25,000
= 104,014
cREXIY 79,014 74,414 4,600
101 QI24H| 9,236 21,752 A12,516
04 It 22X S22 9,236 21,752 A12,516
OZE2NSSEAR Q124
76,9602%4001x3 9,236
201 L2 29,728 22,942 6,786
01 AlR2t2|H| 18,045 11,910 6,135
O=224 HHI2Y
60,00094*1501x25 1,800
OulFDI =& 80,000 % 150H*23] 2,400
O0llx2| 272 4,000&+500H 2,000
OF D= ot =) ¢
50,0001 15 750
OSZH(E22=7)
8,0002 %4 01+804] 2,560
O3g(c2e4)
8,000 %1501x204! 2,400
OE22+2 11272 6,135
oxg= 50,0002 *15Q1x2% 1,500
0gtste 60,0002 * 150112 900
0o+HM 3} 60,000R%150142= 1,800
UelgSie 8,000 *15Q1%2%} 240
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2A:
X{XH -
o /e

cH):

Faf=i,
CERAEANE
EZ2AEAS

HEE

2A - HH . H(SH) - MRAIY - BES Ol AtK Ol Aton Hns2t
02 20,0002+ 1501 %2 600
0ot B SH 90,0002 *801% 1% 720
oetd=Zord 25,0002 150112 375
02 222 11,683 11,032 651
O&BHHE EHE 20
1,8502%322| E{*60CH*23] 7,104
OWFD| 27 8,000 *x20E*15CH 2,400
Ozl 87
1,6602%1.252| E{* 15CH*703 2,179
202 OiH| 10,500 4,800 5,700
01 2LH0IH 10,500 4,800 5,700
OZ2H24-8 200,000 #4901 128 9,600
OZ 28242 HlnAS ot
30,0002 *1501x23] 900
206 XHEH] 17,300 16,280 1,020
01 JH2H] 17,300 16,280 1,020
O AL Ot +& 30025, 0000K 1,500
oA 7Y 10, 000700 ™ 7,000
O&THHR H3ids P
11,0004 +400 % CH 4,400
O23s5E ¢ 22,0002 *200 XL CH 4,400
405 XHAHESH 12,250 8,640 3,610
01 AU SEFSH| 12,250 8,640 3,610
Ou=EI| ¢ 650,000 *4CH 2,600
OJAE(1XS) 7Y 800, 000 *2CH 1,600
OAXEZ0t 7 850, 0002 *1CH 850
OZR0HNE 227
10,0002 * 100K 1,000
OEZHEE 23527
10,0002 200K 2,000
Oot:EIA e 24, 000R+50 % 1,200
OZ2242 0= 448 2
200,000 15Q! 3,000
O{RI0IE 57 A AL (FHEAY) 50,000 0 50,000
[ 25,000
= 25,000
401 AlEHI L2 0HH 50,000 0 50,000
[ 25,000
= 25,000
01 Al&H] 50,000 0 50,000
ONRI0I25 7 A ALY
50,000,000 50,000
[ 25,000
z 25,000
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S HAD
HE: C2HAAY
CRl: sHEE2XHIAIE (che]: X Sl)
2A - FHH . A(SH) - MEAIY - BES O AtH %E& Hns2
SOEC 2 AHIAY 6,244,075 10,126,113 A\3,882,038
[= 600,000
= 5,644,075
SHECZ HHIAY 5,644,075 8,466,113 N2,822,038
401 Al H| 2L 2 OHH 5,644,075 8,466,113 N2,822,038
01 Al&H] 5,630,000 8,445,000 22,815,000
OgR~SAIHER SHTTADAHL=0.87kn)
100,000,000 100,000
OAMEL HARISATZ Y| ZAHL=0.75kn)
1,000,000, 000 1,000,000
OSESEMN AT SHEEBAK(L=0.57km)
100,000,000 100,000
OQEAEA XAT2 SHIRRAK(L=0.34kn)
100,000,000 100,000
OUE~EE C2(2IT20754) SHEEZAK
L=0.73km) 500,000,000 500,000
OAIHOIZ E2(21T20154) SHTEEZAHL=0.
Skm) 400,000,000 400,000
O=HA MATZ(AIZE0HE) HHIZAHL=0.3km
) 200,000,000 200,000
OLE Y= HECZ(HZ1015H) HUIBAK
L=0. 15km) 300,000,000 300,000
028 SHEZ200RSH(2E) HUIZAF D
2EHEA 30,000,000 30,000
OJISi0E RYT2 HHIZAHL=0.2%n)
300,000,000 300,000
ONE0IS XUT2 MHIZAHL=80m)
150,000,000 150,000
OMNE~S5 HE1015 S2IHA B AHL=2kn)
500,000,000 500,000
024012 T2 SIATAHL=0.64kn)
500,000,000 500,000
O/IoH SE3125 6 (S &~0HE) TZ2IHABAK
L=0.5km) 100,000,000 100,000
ORI XHIHE ZAHL=0.2km)
250,000,000 250,000
OEXID KHIHEZAHL=0. 16km)
300,000,000 300,000
OHHY MEIE2 SIEZAHL=0.5km)
500,000,000 500,000
OsHES 22235 (AUXIR) SRS TEDA
(L=0.6km) 300,000,000 300,000
03 Al&SCHH 14,075 21,113 A7,038
OAl&g=0Hl 5,630,000,0002*0. 25% 14,075
SALHHI S 2 S T A T A} 600,000 1,660,000 A 1,060,000
[ 600,000
401 AlEHIZL 201 600,000 1,660,000 1,060,000
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SA AL
MM T2 AHAAY
Hell sHECZEHIAY (Crel: & 2l)
SN B SL(3) - MBAY - BaS Ofl b Gl MimE=T!
= 600,000
01 Al 600,000 1,660,000 1,060,000
OFA-LHCHHE 2 B Z B ANL=3.0kn)
600,000,000 600,000
=S 600,000
T ROIAY 2,288,208 2,531,552 243,344
25 SHIAY 2,088,208 1,826,552 461,656
401 A2 E0HY] 2,088,208 1,826,552 461,656
01 Al 2,280,000 1,820,000 460,000
ORE245 AOHIS 232 HEZAHL=0.66
km) 100,000,000 100,000
ORE8SH 2BE2 HHEEATA
180,000, 0002 180,000
ORZI5H SET2 HH|ZA
500,000,000 500,000
ORE135 HEXT £2 HHIZAF
200,000,000 200,000
OREIEEN(QEXT) HHELTA}
200,000,000 200,000
ORENEH BAHT2 HHPSABA
300,000,000 300,000
OREREN SHE2 42 HHIZA}
100,000,000 100,000
OBS-HX2 T2(2EU5H) OIARHY
2I|Z AH(L=3km) 300,000,000 300,000
ORE75N 222 Y42 HHIZAF
100,000, 0002 100,000
OXl2D HHT2 HH|AIY
300,000,000 300,000
03 Al 8,208 6,552 1,656
OAl& =0l 2,280,000, 00024 *0. 36% 8,208
WIEE JIEFZZAY 9,134,972 5,496,899 3,638,073
ESE RN 550,447 520,000 30,447
401 AI2HIZ 2 0HE 550,447 520,000 30,447
01 Al&H 547,000 520,000 27,000
ONBHUFARH(7HA)
77,000,000 77,000
ONBOIHHARA(3EAILS 897H2)
40,000,000 40,000
ONTOIHHAE(JIEIDE 670HA)
30,000,000 30,000
@mETIEES 400,000,000} 400,000
03 Al IHH 3,447 0 3,447
OAlESTHHI 547,000, 00024%0.63% 3,447
JIEF S2ANY 1,103,960 0 1,103,960
401 Al&HIZ E0HY] 1,103,960 0 1,103,960
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SA HAD
M C2AAAL
C9: WMIINE JIEIEZ2AY (crel: 22l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
01 Al&ZHI 1,100,000 0 1,100,000
OADIE =28talH T2 0142 AHL=0.35kn)
500,000, 000! 500,000
OXNLZI001S(2FRT) BEE EXIBAHL=0.4k
m) 200,000,000 200,000
OXZE1026546 QEXT BE AXIZAHL=0.
3km) 200,000,000} 200,000
O=crsH F=0Se &2 I JHU|ZAF
(L=0. 1km) 200,000, 000! 200,000
03 Al& S THY| 3,960 0 3,960
OAl&=CHl 1,100,000,00024*0. 36% 3,960
CRIRZTIALY 2,464,512 2,384,600 79,912
201 LB 35,800 24,600 11,200
02 2229 35,800 24,600 11,200
O0ZI0I8SR2CCTY MII23
1,000,00024* 122 12,000
olzs I3 500,000 %12 6,000
OZZAIE2(Z2EI, TV S) SHMe2
50,0004+ 104 Ax 122 6,000
OE2242&D M=
50,0002 %3S+ 122 1,800
OEzgd M3 2,500,000 «4 & 10,000
401 Al&HIL 2 0HY] 2,428,712 2,360,000 68,712
01 Al&H| 2,420,000 2,360,000 60,000
O2E 2 SHEEZ ALIES
500,000, 000! 500,000
ORE L SHEETR K& TAAL
500,000, 000! 500,000
OZ28 EHD| & HSHHAIY
400,000, 000! 400,000
O&Z A& 24 500,000, 000! 500,000
O 2ZAIE 2i= ZHIT 100,000,000 100,000
OZZH2IZ 0TV, BEI S S 2H
20,000,000 20,000
Onigex 2a42 12 400,000, 000! 400,000
03 Al THY| 8,712 0 8,712
OAlE=20HYI 2,420,000,00024%0. 36% 8,712
CRAL FDISAALY 1,966,053 2,592,299 N626,246
401 AlEHIL 20| 1,966,053 2,592,299 N626,246
01 Al&H| 1,959,000 2,583,000 A624,000
OZS0I2Y T2 JHEHY AXIZAHL=0.3km)
45,000,0002! 45,000
ORC165H ALET2 NSHL2ART o
X AP (L=0.4km) 200,000, 000! 200,000
ORE16EH(PIIRIT) HERZBAHL=1km)
175,000,000 175,000
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2A:
X ZH
S

Faf=i,
CERAEANE
WEIISES JIEI=2AY

HEE

2A - 3 - H(SH) - MRAY - BAS O AtH Of| b0 Hns2
OZE 1658 (LAX7) MEXSAHO.27km)
100,000,000 100,000
ORZ138d U2 SSINZEZAHL=50m)
40,000,000 40,000
ONSY HZ1015 T2 HHIZAHL=0.3kn)
40,000,000 40,000
ORZNSH (BN £8S) T2=7 832
AH(L=0.45km) 100,000,000 100,000
OANE SHEZ230954(22]) £2 ZHI=R
AH(L=30m) 100,000,000 100,000
ONE sSHEZ220BEH(LIR0IE) &2 ®
HIZ AHL=0. 1km) 30,000,000 30,000
OZENS(ZAXIT) SREXIBAHL=0. 12km)
30,000,000 30,000
O SHEZ 22165 (A2IY) HUIZAHA
21 20H4) 70,000,000 70,000
OXIZT1005( SHAKI7) B8 2242 AHL=80m)
50,000,000 50,000
O/ 2|Z3085 (A0IKI7) T2 SIEBAK
L=0.2km) 150,000,000 150,000
OUD~RE2F T2 OtARSHMNR2I|ZAHL=0.5
Skm) 150,000, 0002 150,000
OVRE=0IS S22 SHEIBAHL=1kn)
230,000,000 230,000
OMHIZF 21E2108 46 (DRIXIT) SIEZAHL
=0. 1km) 90,000,000 90,000
OZE28SH(MEXIT) =2 FHHIZAHL=0.84km
) 50,000,000 50,000
OMHIZF 2120158 (AIDK~BHEIRI ) E2 T
TR AHL=1km) 122,000,000 122,000
OMHIZF SZ3085 4 THEZZAHL=1km)
100,000,000 100,000
OFR2ENSH(SHXIT) AUEZ SHEED
AH(L=0. 15km) 47,000,000 47,000
OXILET1026 HAIOIS A7 ABAE HH|IZ
AH(L=0. 1km) 40,000,000 40,000
03 Al&SCHH 7,053 9,299 NA2,246
OAIZ= bl 1,959,000, 0002 *0. 36% 7,053
S MMXIZ XA 550,000 0 550,000
401 AlEHIZL 201 550,000 0 550,000
01 Al&H] 550,000 0 550,000
OLR|DXE DECHHAILA (BIM DR
=W} 550,000,000 550,000
ARIAZE THHHEHK| RIQLE 2 SIADAL 500,000 0 500,000
401 AlEHIZL 20 500,000 500,000
01 Al&H] 500,000 0 500,000
OMIAIZETHHHEK| RQJT 2 SIERAK(
L=0.48km) 500,000,000 500,000

- 312 -




SA: AL
M CRAAAMY
ol WEIHES JIEH=Z ALY CEREERD
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
LIS MO Z AL 2,000,000 2,000,000
401 A& HIL S CHY] 2,000,000 2,000,000
01 Al&HI 2,000,000 0 2,000,000
OLH2IS R THIHL BAHL=0.2km)
2,000,000,000 2,000,000
INEPESEESIINT= 1,205,000 2,950,000 A 1,745,000
F; 705,000
= 500,000
MEIRELZAAH AL ESAIY 1,205,000 2,950,000 A 1,745,000
F; 705,000
z 500,000
401 AlEHILSOHY| 1,205,000 2,950,000 A 1,745,000
o) 705,000
= 500,000
01 Al&HI 1,205,000 2,950,000 1,745,000
OMEZHEAZA CHAIL SHEAIY
1,205,000,000 1,205,000
F; 705,000
= 500,000
St Hl 14,381,465 12,714,588 1,666,877
= 584,000
[ 614,500
= 12,482,965
CH 700,000
INEIGTESEEE 7,342,899 5,767,564 1,575,335
= 479,000
[ 562,000
z 5,601,899
CH 700,000
SN L 519,665 388,640 131,025
101 Q14| 17,145 0 17,145
04 JHH22XISE S 17,145 0 17,145
Old SHES o= QA 0124] 17,145
0ol== 85,6002 *x201x902! 15,408
0=2%= 15,408,000 4. 5% 694
0HE=2S 15,408,000 %3.545% 547
0LQIED QYRS 547 ,00024%12.81% 71
0UERE 15,408,000 %1.75% 270
0LHHEE 15,408,000 * 1% 155
201 Lty 48,920 61,040 A12,120
01 Al22+2|H| 36,920 51,920 A15,000
OS2I (GHEYPEX)
8,0002%321+804] 1,920
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2A:
7<‘| il—l:
e

Faf=i,
otd Hd|
Xl 2totaE 2ol

HEE

2AM -3 . H2(3H) - MRAEY - BES 04| AroH Ol Ak ot Hnsz2
SNEENEESEEIES
500,0002*7021 35,000
02 22| 12,000 9,120 2,880
OXIgatE 42 ®I|e2
300,00081% 122 3,600
O 01T AR FMI|Q2
350,00081% 122 4,200
OARRIDISE ®IIe3 200,000 %122 2,400
O206t& AlEE ®IIR2
150,00021% 122! 1,800
202 Odt| 3,600 3,600
IETEL 3,600 3,600 0
OO04HI(BH & P 43H)
100,00024%301% 122 3,600
401 AI2HIZ 200 450,000 324,000 126,000
01 Al&H 450,000 324,000 126,000
OZH oE MY
15,000, 00021% 11204 165,000
OFH HMLZHIIIA
15,000,00024% 114 & 165,000
Oatd AlE2(®D|, 03, 2x2) 22
15,000,00021*570 A 75,000
OBt 22| B MYDIS)|, 2HE )L
Al 500, 00021*30H 4 15,000
OBIEAIES HUEA (AT D)
30,000,00024% 1742 30,000
XI5t & S XI 22| AR 540,000 380,400 159,600
[ 270,000
2 270,000
401 AlZHIZ 204 540,000 380,400 159,600
[ 270,000
2 270,000
01 Al&H 540,000 380,400 159,600
OXIYSIE SIEHHI(ZL)AY
358,000, 000%! 358,000
= 179,000
= 179,000
OXI5HE EXIT HHIAFY
2,000,0002 2,000
[ 1,000
2 1,000
OXgtete SXIZ2IA
150,000, 0002 150,000
= 75,000
= 75,000
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SA ALt
Zo: o Il
o2l Xgota2te| (chel: x421)
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
OXgota == i3 JHIAt
30,000,000 30,000
T 15,000
= 15,000
2ot KRN E4=(40122) 479,000 210,000 269,000
= 479,000
401 AEBIZ 20| 479,000 210,000 269,000
= 479,000
01 A&t 479,000 210,000 269,000
O3Jlotd S22l
479,000, 000& 479,000
= 479,000
XLotE AIEEBIAMS 3,429,234 3,288,524 140,710
401 Al &HIZL 20| 3,429,234 3,288,524 140,710
01 Al&H| 3,420,000 3,279,668 140,332
OL2H (LX) XLaHE HUISAH
500,000, 000& 500,000
OAR (2rAXR) XIotE HUIS A
250,000, 000& 250,000
OSME(PAIKIR) XILatE HUISAH
500,000, 000& 500,000
OFAH(GHAIXIR) S0 BAUBAL
70,000, 000& 70,000
OH&A(ESHXR) XLotE HUISAt
20,000, 000& 20,000
OHRZ(MEHXIR) SO0IR ZEIA
80,000,000 80,000
OAIE Alel JISE XIS3HEHIE XIS A
30,000, 000& 30,000
OWSH(WSXI7R) XYsHE FHIBA
200,000, 000& 200,000
OZSE(UYXR) MEEZ HUISA
336,000, 0003 336,000
OS2 RSXR) HEEZ HUISA
54,000,000& 54,000
O (HEIR) HLS HUISA
30,000, 000& 30,000
OME&L| NYotE = AN 4XS
Al 20,000,000 20,000
OAMBH(E2XR) 2T ZE A
300,000,000 300,000
O &2 (HotXIR) &2 ZHTA
500,000, 000& 500,000
OHHE(ADIXIR) S22 FHISA
60,000,000 60,000
OaE WEXT XILGHE HHISAL
200,000, 000& 200,000
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A A4

yu: i By
el Xwsta e (chol m=)
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
OXlgotd D28l 243 X=s
200,000, 000& 200,000
OgAME ALl 23 At
70,000,000& 70,000
03 Al 2201 9,234 8,856 378
OAl£€ =it 3,420,000,000&*0.27% 9,234
oY ME=M2RRR LA (HE) 200,000 1,500,000 21,300,000
= 130,000
i 70,000
401 AlEHIZL 08I 200,000 1,500,000 21,300,000
= 130,000
i 70,000
01 Al&Hl 200,000 1,500,000 21,300,000
OZSY MEN=M2AZTR LA (XS
200,000, 000& 200,000
& 130,000
i 70,000
20229 =2 D|BAIE HSIHEXIE AIEAIS 635,000 0 635,000
401 AlEHIZL 08I 635,000 0 635,000
01 Al&H| 635,000 0 635,000
O&BR(XILSIE) HEA
635,000, 000& 635,000
Z32 100212 NHEANEZ OHESA 1,200,000 0 1,200,000
i 500,000
CH 700,000
401 Al&HIZ 20| 1,200,000 0 1,200,000
i 500,000
CH 700,000
01 AlEH| 1,200,000 0 1,200,000
OZsZ 100212 NN AHEZ IHESA
1,200,000, 000& 1,200,000
i 500,000
CH 700,000
AD|0tS S ZTEHSAHFOUEO0AH 40,000 0 40,000
& 12,000
i 28,000
401 Al&HIZ 20| 40,000 0 40,000
& 12,000
i 28,000
01 AlEH| 40,000 0 40,000
O4D|0ts =2 ZE3A
40,000,000 *14] 40,000
= 12,000
i 28,000
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2A:
X ZH
S

Faf=i,
otd &bl
Xlgfots 2t

HEE

S - BB - BRI(S) - HRAY - BAS Oil kot Gl o HlmS2
2A AOHYR )X LBtotA FHIAY 300,000 0 300,000
== 150,000
o 150,000
401 AIEHIZL 20| 300,000 0 300,000
& 150,000
o 150,000
01 Al&H| 300,000 0 300,000
O3M AIOHYE)XI7 LBtetE HHIANY
300,000,000 300,000
& 150,000
o 150,000
AR KA 204,892 205,991 A1,099
HAHFHIS XIAAS 204,892 205,991 A1,099
401 AIEHIZL 20| 204,892 205,991 A1,099
01 AI&HI 204,892 205,991 A1,099
Og2d FHI S XA
204,892,000& 204,892
AotEF A2l 6,028,634 6,137,253 A108,619
= 105,000
== 52,500
o 5,871,134
Entel FS RN RPN 1,570,634 1,889,253 A318,619
401 AEBIZ 20| 1,570,634 1,889,253 A318,619
01 Al&HI 1,565,000 1,882,476 A317,476
Ol |SA06HE HBISA
160,000,000 160,000
OHIDISA6HE HEISA
130,000,000& 130,000
OsdAiote HHISAH 50,000,000 50,000
OgeAste &HUIZBAL 100,000,000 100,000
OEZAGHE HUISAL 30,000,0002 30,000
OYXIAcHE EUISAL 60,000,0002! 60,000
OJtsiacte EHISAL 150,000,000 150,000
OgEAcHe FHISAH 300,000,000 300,000
O2AT2HA0IA HUISAH
200,000,000 200,000
Ot A0ld HHIZA
100,000,000& 100,000
OSFAote HHISA 85,000,0002 85,000
OSFLAGHE FHUISAL 200,000,000 200,000
03 AIE=0HY| 5,634 6,777 A1,143
OAl£€ =it 1,565,000,000&*0. 36% 5,634
2@ AolE HHISAHEEAIY) 350,000 800,000 A450,000
401 Al&HIZ 20| 350,000 800,000 A450,000
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SN A4t
S ot JHI
EHRlr ASERAI2E (St M 2l)
S - BB - BRI(S) - HRAY - BAS Oil kot Gl HlmS2
01 AI&HI 350,000 800,000 450,000
O Aotd HHISAH 350,000,000 350,000
A ASHE FHIZBAHEESALY) 1,100,000 0 1,100,000
401 AlEHIZL 20| 1,100,000 0 1,100,000
01 AI&HI 1,100,000 0 1,100,000
O&lA AotE HUISA
1,100,000, 0002 1,100,000
Al Ao MHISAHEESAIY) 1,200,000 0 1,200,000
401 Al&HIZ2THY| 1,200,000 1,200,000
01 Al&H| 1,200,000 0 1,200,000
OFA A0te HUISA
1,200,000, 000 1,200,000
T AGHE FHIBAHEEAIY) 1,100,000 0 1,100,000
401 AlEHIZL 20| 1,100,000 0 1,100,000
01 AI&HI 1,100,000 1,100,000
O&E Aot& HUISAH
1,100,000, 000& 1,100,000
NS AoHE HHISAHEESAIY) 498,000 0 498,000
401 Al&HIZ 20| 498,000 0 498,000
01 Al&H| 498,000 498,000
ONE A0otA HUISA 498,000,000 498,000
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[ 1,261,790
= 14,524,676
=D |BHAHI AN 1,755,219 4,193,654 A2,438,435
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o#=X| 7 1,000,0002+62 6,000
o ZEHKIF 1,000,000 62 6,000
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OZK DHELLT ULBI DHZAH 1AL
100,000,000 100,000
OAIoF QDX Hi4Z & X2 AHL=200m)
60,000,000 60,000
Olor HEX| T B4R =4 U Hi42 M|
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100,000,000 100,000
O/S S HIXI? 842 HHIZAHL=200n
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58,000,000 58,000
OIS "ELE 22 2 204 HHIBA
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45,000, 000& 45,000
O=0t2 =2 EHHIZ2AHL=120m)
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MM SH)|BI=RIAIS 553,465 503,600 49,865
401 AIEHIZL 204 553,465 503,600 49,865
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22,000,000& 22,000
Ogsiire s a2 JUISAHL=100m)
25,000,000 25,000
Ostsiils Y= =2 HUISAHL=100m)
20,000, 000& 20,000
O&as0tg 2¢s tis=2 FHIAFZ(L=100m)
23,000, 000& 23,000
03 Al S04 2,765 2,974 A209
OMHIZH SD|B=RAIY 20|
384,000,000%0.72% 2,765
AEH S |B=RAY 628,938 618,875 10,063
401 AlEHIZSOHY] 628,938 618,875 10,063
01 AlEH| 625,000 615,000 10,000
OSH0t2 Etli+=2 EXISAHL=300m)
75,000, 000& 75,000
OS24t 42 FHISAHL=160m)
80,000,000 80,000
O=220I2 =2 FHISAHL=200m)
60,000,000& 60,000
OLH0IE 42 WHISAHL=400m)
50,000, 000& 50,000
O0l0tE J&EZ ZHBAHL=270m)
50,000,000 50,000
O &2 ZEBAHL=270m)
50,000,000 50,000
OEZ20t2 Stli+=2 FHISAHL=250m)
50,000, 000& 50,000
OAMEOIE =28 LEratd LS AH(1A)
50,000,000& 50,000
O7HEOI2 =2 HUISAHL=250m)
40,000,000 40,000
O&80t2 42 JHISAHL=100m)
50,000, 000& 50,000
OAHIOIE StH=Z &BISAHL=90m)
40,000,000 40,000
OA0IE EUll+=Z HUISAHL=200m)
30,000,000 30,000
03 Al 2204 3,938 3,875 63
OXISH sHI|B=RAIY 20|
625,000,000&*0.63% 3,938
Mol & M- =27 s 25t 3,090,000 1,300,000 1,790,000
= 1,545,000
= 772,500
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M ol & M =7 52 23t
£l THOH I EH AL CEREERD
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
i 772,500
KHOH Ol 2 AFS 3,090,000 1,300,000 1,790,000
= 1,545,000
= 772,500
i 772,500
AS(A01) KATHHRAIE NS 7 FHIA 1,200,000 300,000 900,000
= 600,000
= 300,000
i 300,000
401 AEBIZ 20| 1,200,000 300,000 900,000
= 600,000
& 300,000
i 300,000
01 AlEH| 1,200,000 300,000 900,000
AS(201) XHATHHRAIEINEXI T ZHIAL
o 1,200,000, 0002 1,200,000
= 600,000
& 300,000
i 300,000
UE 2 AAMHRIEONE X2 EBIALS 1,890,000 1,000,000 890,000
= 945,000
& 472,500
i 472,500
401 Al&HIZ 20| 1,890,000 1,000,000 890,000
= 945,000
& 472,500
i 472,500
01 AlEH| 1,884,897 993,700 891,197
OXATHNRIE HEXRAEH(LEEXIT)
1,884,897,000& 1,884,897
= 945,000
& 472,500
i 467,397
03 Al 2204 5,103 6,300 A1,197
OXATHNRIE HEXRAEH(LEEXIT)
SOl 1,890,000,000&*0.27% 5,103
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